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Q.1 Which of the following qualifications is required to contest the election of the
President of India?
I. He or she must be born outside India.
Il. He or she must qualify to become member of House of the People.
Ans X 1.Bothlandll
 2.0nlyll
X 3.0nly
X 4. Neither I nor Il
Question ID : 630680315473
Option 11D : 6306801227611
Option 2 ID : 6306801227610
Option 3 ID : 6306801227609
Option 4 ID : 6306801227612
Status : Answered
Chosen Option : 4




Q.2 According to the Indian Constitution, respecting the National Flag and the National
Anthem is a

Ans & 1. Fundamental Duty
. 2. Directive Principle of State Policy
< 3. Constitutional Morality
< 4. Fundamental Rights

Option 2 ID

Question ID :
Option 11D :

630680315471
6306801227602

: 6306801227603
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801227604
6306801227601
Answered

1

Q.3 Squash World Cup 2023 was held in
Ans X 1. Hyderabad

< 2. Bengaluru
" 3. Chennai
< 4. Ahmedabad

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680315455

6306801227540
6306801227537
6306801227539
6306801227538

: Not Answered
Chosen Option :




Q.4 Who is the writer of the book 'Him Taringini'?
Ans & 1. Makhan Lal Chaturvedi

< 2. Atal Bihari Vajpayee
/< 3. Rabindranath Tagore
< 4. Madan Mohan Malviya

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680315464
6306801227575
6306801227573
6306801227574
6306801227576
Not Answered

Q.5 Rashmi Choudhury won the Sahitya Akademi Award 2022 for which language?
Ans 1. Bodo

< 2. Gujarati
X 3.0dia
& 4. Dogri

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680315465
6306801227579
6306801227580
6306801227578
6306801227577
Answered

3




Q.6 Which state government signed a tripartite memorandum of understanding (MoU) with

Ans

NITI Aayog in July 2022 for a large-scale transformation in school?
«” 1. Arunachal Pradesh

& 2. Himachal Pradesh
% 3. Madhya Pradesh
< 4. Uttar Pradesh

Question ID : 630680315458
Option 1 ID : 6306801227551
Option 2 ID : 6306801227552
Option 3 ID : 6306801227550
Option 4 ID : 6306801227549
Status : Answered
Chosen Option : 4
Q.7 As per Census 2011, which among the following states has female literacy rate above
80 percent?
I. Mizoram
Il. Tripura
Ans o 1.Bothlandll
& 2. 0nly I
& 3. 0nly|
# 4. Neither I nor Il
Question ID : 630680315470
Option 1 ID : 6306801227599
Option 2 ID : 6306801227598
Option 3 ID : 6306801227597
Option 4 ID : 6306801227600
Status : Not Answered

Chosen Option :




Q.8 The coverage rate for DPT3, the third dose of diphtheria, pertussis and tetanus
vaccines, in India was , as per the WHO and UNICEF estimates for national
immunisation coverage for 2022,

Ans X 1.85 percent
& 2. 91 percent
5 3. 95 percent

" 4. 93 percent

Question ID : 630680315457
Option 1 ID : 6306801227545
Option 2 ID : 6306801227546
Option 3 ID : 6306801227548
Option 4 ID : 6306801227547
Status : Not Answered
Chosen Option : --
Q.9 Which of the following festivals is/are associated with the celebration of regional New
Year day in India?
l. Gudhi Padwa
Il. Poila Baishak
Ans X 1.0nlyl
" 2.Bothland Il
< 3. Neither I nor Il
X 4.0nly I
Question ID : 630680315467
Option 1 ID : 6306801227585
Option 2 ID : 6306801227587
Option 3 ID : 6306801227588
Option 4 ID : 6306801227586
Status : Answered
Chosen Option : 1




Q.10 Lake chilika lies to the south of which of the following river delta?

Ans

" 1. Mahanadi delta
£ 2. Godavari delta
< 3. Krishna delta
< 4. Kaveri delta

Question ID

: 630680315468
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801227590
6306801227589
6306801227591
6306801227592
Answered

1

Q.11 Process by which substances like carbon dioxide or oxygen can move across the cell

Ans

membrane is called
25 1. guttation

o 2. diffusion
< 3. transpiration
< 4. osmosis

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

630680315474

6306801227615
6306801227614
6306801227616
6306801227613

. Answered
Chosen Option :

4




Q.12 Which of the following is NOT a writ issued by the Supreme Court of India?
Ans X 1. Certiorari

" 2. Prima facie
£ 3. Quo warranto
< 4. Prohibition

Question ID : 630680315472
Option 1 ID : 6306801227607
Option 2 ID : 6306801227608
Option 3 ID : 6306801227606
Option 4 ID : 6306801227605
Status : Answered
Chosen Option : 4

Q.13 Which of the following statements is correct regarding Pradhan Mantri Fasal Bima
Yojana?
I. This scheme was launched in October 2018.
Il. This scheme covers all Food and Oilseeds crops and Annual
Commercial/Horticultural Crops.

Ans X 1.Bothlandll
X 2.0nly|

& 3.0nly II
# 4. Neither | nor II

Question ID : 630680315459
Option 1 ID : 6306801227555
Option 2 ID : 6306801227553
Option 3 ID : 6306801227554
Option 4 ID : 6306801227556
Status : Answered
Chosen Option : 1




Q.14 Which of the following pairs of ‘player — sports’ is correctly matched?

Ans

I. Bhakti Pradip Kulkarni — Chess
Il. Sagar Kailas Ovhalkar — Shooting

< 1.Bothlandll
< 2. Neither I nor Il

25 3.0nly Il
o 4.0Only |
Question ID : 630680315456
Option 1 ID : 6306801227543
Option 2 ID : 6306801227544
Option 3 ID : 6306801227542
Option 4 ID : 6306801227541
Status : Answered
Chosen Option : 1
Q.15 Arrange the following Nawabs of Bengal in correct chronological order.
I. Alivardi Khan
Il. Murshid Quli Khan
lll. Sirajuddaulah
Ans X 1. I-lI-llI
&2, -l
o 3. 1111l
2401
Question ID : 630680315463
Option 1 ID : 6306801227570
Option 2 ID : 6306801227569
Option 3 ID : 6306801227572
Option 4 ID : 6306801227571
Status : Not Answered

Chosen Option :




Q.16 The Ramakrishna Mission set up in
Ans X 1.1907

o 2. 1897
/< 3.1887
< 4.1877
Question ID : 630680315462
Option 1 ID : 6306801227568
Option 2 ID : 6306801227567
Option 3 ID : 6306801227566
Option 4 ID : 6306801227565
Status : Answered
Chosen Option : 2
Q.17 The negative slope of the demand curve can be explained in which of the following
terms?l. Substitution effectll. Income effect
Ans X 1.0nlyll
5 2.0nly |
25 3. Neither I nor Il
" 4.Bothland Il
Question ID : 630680315461
Option 1 ID : 6306801227562
Option 2 ID : 6306801227561
Option 3 ID : 6306801227564
Option 4 ID : 6306801227563
Status : Not Answered
Chosen Option : --




Q.18 Which among the following languages belongs to the Dravidian language family?

l. Korwa
1. Tulu
Ans X 1.Bothlandll
& 2. 0nly |
25 3. Neither I nor Il
o 4.Only I
Question ID : 630680315466
Option 1 ID : 6306801227583
Option 2 ID : 6306801227581
Option 3 ID : 6306801227584
Option 4 ID : 6306801227582
Status : Not Answered
Chosen Option : --
Q.19 Which among the following are the trees found in mangrove forests?
Ans X 1. Cacti
< 2. Deodar
" 3. Sundari
25 4. Arjun
Question ID : 630680315469
Option 11D : 6306801227596
Option 2 ID : 6306801227593
Option 3 ID : 6306801227595
Option 4 ID : 6306801227594
Status : Answered
Chosen Option : 3




Q.20 The ratio of additional consumption to additional income is called
Ans X 1. Ex ante consumption

«” 2. marginal propensity to consume
< 3. marginal propensity to save

/< 4. average propensity to save

Question ID : 630680315460
Option 1 ID : 6306801227557
Option 2 ID : 6306801227560
Option 3 ID : 6306801227559
Option 4 ID : 6306801227558
Status : Not Answered
Chosen Option : ==
Section : General Intelligence & Reasoning Ability
Q.1 In the following question, select the missing number from the given series.
1,2,8, 25,66, ?
Ans X 1.168
X 2.160
< 3. 161
o 4. 157
Question ID : 630680315492
Option 1 ID : 6306801227688
Option 2 ID : 6306801227686
Option 3 ID : 6306801227687
Option 4 ID : 6306801227685
Status : Answered
Chosen Option : 4




Q.2 In the question given below, relationships between different elements are shown in the
statements. These statements are followed by two conclusions. Give answer:
Statements:

I.LP>Q2R;T=N>E>R
Conclusions:

I.P>R

I.T>Q

Ans X 1. If both conclusions | and Il are true
< 2. If neither conclusion | nor conclusion Il is true
< 3. If only conclusion Il is true

«” 4. If only conclusion | is true

Option 1 ID

Question ID :

630680315480

: 6306801227640
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801227639
6306801227638
6306801227637
Answered

1

Q.3 In the following question, select the related letters from the given alternatives.
MY :HT :: KW:?

Ans X 1.NO
X 2.RP
« 3.FR
X 4.08

Option 3 ID

Question ID :
Option 11D :
Option 21D :

630680315485
6306801227657
6306801227659

: 6306801227660
Option 4 ID :
Status :

Chosen Option :

6306801227658
Answered
3




Q.4

After interchanging the which two numbers, the value of the given equation will be
‘712

9x7-8+1+6
Ans X 1.7and6
o 2.7and 8
5 3.8and6
2 4.8and9
Question ID : 630680315494
Option 1 ID : 6306801227695
Option 2 ID : 6306801227694
Option 3 ID : 6306801227696
Option 4 ID : 6306801227693
Status : Answered
Chosen Option : 2
Q.5 In the question given below, relationships between different elements are shown in the
statements. These statements are followed by two conclusions. Give answer:
Statements:
.GSJ<T,N2K=P;N=E>G
Conclusions:
.G<T
LK< G
Ans X 1. If both conclusions | and Il are true
«” 2. If only conclusion | is true
< 3. If neither conclusion | nor conclusion Il is true
< 4. If only conclusion Il is true
Question ID : 630680315479
Option 1 ID : 6306801227636
Option 2 ID : 6306801227633
Option 3 ID : 6306801227635
Option 4 ID : 6306801227634
Status : Answered
Chosen Option : 2




Q.6 In the following question, four letter pairs are given. The letters on left side of (-) is
related to the letters on the right side of (—) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans X 1. TFAL-VHCN
#5 2. DPKV — FRMX
< 3.JYQB - LASD
o 4. PDTV -TFVY

Question ID : 630680315488
Option 11D : 6306801227671
Option 2 ID : 6306801227670
Option 3 ID : 6306801227669
Option 4 ID : 6306801227672
Status : Answered
Chosen Option : 4
Q7 JHAIGR P, Q,R, S, T, U AUTV &g B! 3R T FP TP JUTPR AW P 36-RAI6 IS gUE
AT PR FAA R Q, TP SRl 3R g WM W 71 U, Q T4T V g1 BT
Frecaq ueift 31 P, T auT S a1 &7 Aidpead TSR 81 P & Tl 3R g IF W &
87
Ans X 1.U
X 2Q
& 3.R
& 4.V
Question ID : 630680315475
Option 11D : 6306801227620
Option 2 ID : 6306801227618
Option 3 ID : 6306801227617
Option 4 ID : 6306801227619
Status : Answered
Chosen Option : 4




Q.8 6WSH A, B, C, D, E 3R F U g HioTel 3HRA A ¥8d &1 Ia4 fAereh wfora 1 9= 1 €,
ISP SR B! {iTa P HE&T 2 8 3R ! YPR I FUI) Ao 9% P G- 6 81 PIS
W 3} =St v € wfvre W 7Y vea &1 F vy g aret iR R e 1 AR B &
Mo AR T T FaAASNRF, D F FHUR I/d &1 C AU JET arell HiTa U= Igan

21 C F 3P FW B EaT1 82

Ans X 1.F
o 2.D
X 3.A
X 4.B
Question ID : 630680315477
Option 11D : 6306801227626
Option 2 ID : 6306801227625
Option 3 ID : 6306801227627
Option 4 ID : 6306801227628
Status : Answered
Chosen Option : 4
Q.9 In the following question, four letter pairs are given. The letters on left side of (-) is
related to the letters on the right side of (-) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.
Ans X 1.CRNW - FUQZ
5 2. MBXG - PEAJ
£ 3. WLHQ - ZOKT
o 4. LRTJ - OUWN
Question ID : 630680315487
Option 1 ID : 6306801227665
Option 2 ID : 6306801227666
Option 3 ID : 6306801227667
Option 4 ID : 6306801227668
Status : Answered
Chosen Option : 4




Q.10 In the following question, select the missing number from the given series.
2,2,3,55,12,?

Ans X 1.27
X 2.28
o 3. 31
K425
Question ID : 630680315491
Option 1 ID : 6306801227682
Option 2 ID : 6306801227681
Option 3 ID : 6306801227683
Option 4 ID : 6306801227684
Status : Not Answered
Chosen Option : --
Q.11 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.
Statements:
l.LAllQare.
Il. Some Y are A.
Conclusion:
l. Some A are not Q.
Il. Some Y are not Q.
lll. Some Q are Y.
Ans X 1.All conclusion follows
#< 2. Both conclusions Il and Il follows
#< 3. Both conclusions | and Il follows
«” 4. Only conclusion Il follows
Question ID : 630680315478
Option 1 ID : 6306801227632
Option 2 ID : 6306801227630
Option 3 ID : 6306801227631
Option 4 ID : 6306801227629
Status : Answered
Chosen Option : 4




Q.12 A series is given with one term missing. Select the correct alternative from the given

ones that will complete the series.

AM, WV, SE, ON, ?
Ans X 1.LM

o 2. KW

X 3.TD
X 41w

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

630680315481

6306801227644
6306801227643
6306801227642

: 6306801227641
Status :
Chosen Option :

Answered
2




Q13 Which figure is similar to the given figures?

Ans

(*) /A

x 1.

x 2.

& 3.

ORORCE

Question ID

Chosen Option

: 630680315490
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
03

6306801227678
6306801227677
6306801227679
6306801227680
Answered




Q.14 Consider the string given below made up of letter-symbol. Which letter/symbol will be

Ans

the 12th element to the left of the 6th element from the right?
%*RR*SSS*RSR*S*R*%**%SS%*

K1 %
2.8
X 3.R
s a4

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

630680315482

6306801227646
6306801227648
6306801227647

: 6306801227645
Status :
Chosen Option :

Answered
1




Q.15 In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.

4

Ans

1.

& 3.

> B < €2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680315489
6306801227673
6306801227674
6306801227675
6306801227676
Answered

4




Q.16 After interchanging the which two numbers, the value of the given equation will be

“14°?
3x5+4-6+2
Ans X 1.2and3
&K 2.4and 3
o 3.5and 4
& 4.4and?2
Question ID : 630680315493
Option 1 ID : 6306801227692
Option 2 ID : 6306801227690
Option 3 ID : 6306801227691
Option 4 ID : 6306801227689
Status : Answered
Chosen Option : 3
Q.17 In the following question, select the related letter pair from the given alternatives.
TCE:PYA:: ?
Ans X 1.APO:POZ
& 2.Z0L: HUC
o 3. OXB : KTX
/< 4.ABC : DKM
Question ID : 630680315486
Option 11D : 6306801227662
Option 2 ID : 6306801227664
Option 3 ID : 6306801227661
Option 4 ID : 6306801227663
Status : Answered
Chosen Option : 3




Q.18 [Td ATt A, B, C, D, E, F 94T G ¥% & fAudld T $3F U guIeR A & 3c-716 a1
g?%‘(ma—ﬂaé’faﬂwmﬁs’m G, C & it 3R g WM W g1 F, C F id arff 3k
I A, E ¥ SriY 3R TR ®IF W 21 B, D 9UT E 3 Fpean sl g iffufif@a A d o=

IR FUYT & 2
I. B, E & g¥d arft 3R 1
II. G, AP it 3R TR WA R 1
Ans g1 | Ul EH
X 2. g Ag
X 3. Fadll
X 4. Fad |
Question ID : 630680315476
Option 1 1D : 6306801227623
Option 2 ID : 6306801227624
Option 3 ID : 6306801227622
Option 4 ID : 6306801227621
Status : Answered
Chosen Option : 1
Q19 A, BHTHEEIB,CHI IG5 C,DPI A FID,ES UM I E, FHTRAMEIF, G &1
ufa g1 uRarR & fea-t afgwnt 872
Ans X 1.4
X 22
3.3
& 41
Question ID : 630680315483
Option 1 1D : 6306801227649
Option 2 ID : 6306801227651
Option 3 ID : 6306801227650
Option 4 ID : 6306801227652
Status : Answered
Chosen Option : 3




Q20 psQ @ df P Q@A ®, P#Q HT34d P, QP A@IE, P * Q &1 34 P, Q P 75
T, o N#L$X* Q8 @ QN A 5 yoR weifta g2

Ans X 1.7
o 2. MHS T
2 3. YIS
X 4. Tt
Question ID : 630680315484
Option 1 ID : 6306801227653
Option 2 ID : 6306801227656
Option 3 ID : 6306801227655
Option 4 ID : 6306801227654
Status : Answered
Chosen Option : 2
Section : Arithmetical & Numerical Ability
Q1 oF amm & 3R & T 3R S w7 o 37 @Y ¥ oR RE o o9 gow a9we 1628 AW Hex
t ot af & 3mue 3R RE & gEEER T9E 9% & AgOE B
Ans 1.7 . 2
X22:7
X35 .2
X443 .7
Question ID : 630680315503
Option 1 ID : 6306801227729
Option 2 ID : 6306801227730
Option 3 ID : 6306801227732
Option 4 ID : 6306801227731
Status : Answered
Chosen Option : 1




Q2 (lass mark of the class 120 — 200 is :-

Ans X' 1. 200
X2 120
« 3. 160
X4 110
Question ID : 630680315508
Option 1 ID : 6306801227752
Option 2 ID : 6306801227751
Option 3 ID : 6306801227749
Option 4 ID : 6306801227750
Status : Not Answered
Chosen Option : ==
Q.3 a7 ST fF gl fewer F B BR @ot & TrEeh soft & @ § R x @9 o Fewdig & A et &
== Aofr Fr g Eeh -
Ans
x+ B
X1 B+ u
X2 x— 2B
3 2x— B
x+B
X4y — u
2
Question ID : 630680315507
Option 1 ID : 6306801227746
Option 2 ID : 6306801227748
Option 3 ID : 6306801227747
Option 4 ID : 6306801227745
Status : Not Answered
Chosen Option : --




Q4 Which number can be used on the place of “v"” to make 2347y divisible by 3?

Ans X' 1. 0
2 2
X3 3
X4 1
Question ID : 630680315497
Option 11D : 6306801227707
Option 2 ID : 6306801227705
Option 3 ID : 6306801227708
Option 4 ID : 6306801227706
Status : Answered
Chosen Option : 2
Q.5 Inanexamination, Nupur scored 98 marks which is 56% of the maximum marks. What would be maximum marks?
Ans 1. 175
X 2. 265
X 3. 150
X 4. 225
Question ID : 630680315513
Option 11D : 6306801227772
Option 2 1D : 6306801227770
Option 3 ID : 6306801227771
Option 4 ID : 6306801227769
Status : Answered

Chosen Option :

1




Q.6

If P is the amount taken as loan from Bank B. on simple interest for T years at R rate then SI would be -

Ans PXR x 100
x 1.
T
) PXR XT
100
BXP XT
W 3. T AN
R
A B PR T
100+ R
Question ID : 630680315511
Option 1 ID : 6306801227763
Option 2 ID : 6306801227764
Option 3 ID : 6306801227761
Option 4 ID : 6306801227762
Status : Answered
Chosen Option : 2
Q.7 Abha and Bilal, working together can finish a piece of work in 6 days, while Abha alone can finish it in 9 days. How
much time will Bilal need to finish same work alone?
Ans X 1. 20 days
« 2. 18 days
X 3. 14 days
X 4. 15 days
Question ID : 630680315509
Option 1 ID : 6306801227753
Option 2 ID : 6306801227754
Option 3 ID : 6306801227756
Option 4 ID : 6306801227755
Status : Answered
Chosen Option : 2




Q.8 Sakshi attended her school on 204 days in a full year. If her attendance is 85% then the number of working days of

school would be -

Ans X' 1. 300
X 2. 260
« 3. 240
X 4. 230
Question ID : 630680315512
Option 11D : 6306801227767
Option 2 ID : 6306801227766
Option 3 ID : 6306801227768
Option 4 ID : 6306801227765
Status : Answered
Chosen Option : 3
Q9 ofr & 31U WX & AT Towe aTEl U TeTE U #Y g g, e uede ol feam 15 #iew
ST ¥ g% HIURT B DIERC Lo H aed AT F 25 Wl G Al WHR TEel T Sharal Bl i
TSH I AT 2 520 U T & I 9E TSed W fohder @ HEl
Ans 1. 37,800
X2 327,200
X3 37,799
x4 27,810
Question ID : 630680315502
Option 1 ID : 6306801227725
Option 2 ID : 6306801227726
Option 3 ID : 6306801227727
Option 4 ID : 6306801227728
Status : Not Answered

Chosen Option :




Q10 mFud ro AT dar AT 40 AT M & OF F 1o I F v ueh & hH ¥ S 10 A FA, 8
Tex TiEr it 5 e e T T i Tud Tt S ed Y Ui 9w amr ) 3 w9 ¥ e

& =m0 & Ui & == gfE eei-
Ans X' 1. 14.70m

A2 15m
X 3 14.724cm
« 4 14.70cm
Question ID : 630680315501
Option 1 ID : 6306801227722
Option 2 ID : 6306801227724
Option 3 ID : 6306801227723
Option 4 ID : 6306801227721
Status : Not Answered
Chosen Option : --
Q.11 - 2 1 1 1 1
Simplify: 7-—[1 - +={1-— =
plifys 7~ 41—
Ans 7
o 1. =
5
2
X2 —
15
5
X3
2
4
A
5
Question ID : 630680315495
Option 1 ID : 6306801227697
Option 2 ID : 6306801227700
Option 3 ID : 6306801227698
Option 4 ID : 6306801227699
Status : Not Answered

Chosen Option :




Q.12 aand b vary inversely. When a= 15, then b = 6. What will be the value of b when a = 92
Ans 2110

X2 |52

X3 78

X4 15

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680315500
6306801227720
6306801227717
6306801227718
6306801227719
Answered

1

Q.13 The radius and the height of a conical birthday cap is in ratio of 5:12 and its volume is 2512 em?® then what would be

curved suiface area of closed cap?

Ans
v 1260 em?
X2 2671 cm?

X3 816 T em?
X4 820t cm?

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

630680315505
6306801227737
6306801227739
6306801227738
6306801227740
Answered

1




Q.14 The price of a glass container including 10% GST is 2825. What is its basic price?

Ans X 1. 3843.67
X 2. 375435
¥ 3. 2750
X 4. 2650
Question ID : 630680315514
Option 11D : 6306801227773
Option 2 ID : 6306801227774
Option 3 ID : 6306801227776
Option 4 ID : 6306801227775
Status : Answered
Chosen Option : 3
Q.15 44 FAr « 20 VA HWH T UF HAAFER =M QU P THH Sa1S & Y AGAFR HFH aa &
forr gamEn ST &, |1 AU 9 3R & H{EEd -
Ans
X 1. 2080 cm?
v 2 3080 cm’
X3 3050 cm?
X4 3030 cm?
Question ID : 630680315504
Option 1 ID : 6306801227733
Option 2 ID : 6306801227735
Option 3 ID : 6306801227736
Option 4 ID : 6306801227734
Status : Answered
Chosen Option : 2




Q.16 siftrg & wue greg @ 12% Ufy O¥ WIUROT TS WX 220,000 3UR TOU| THA SO AES @ SHT 8T W

zu faan ofeed aiffes =epgie =ar=r &M 2 9¥ a@¢ 3§ F47 o1H gene

Ans X 1. 3388
X2 3280
« 3. 2288
X4 3278
Question ID : 630680315510
Option 1 ID : 6306801227758
Option 2 ID : 6306801227759
Option 3 ID : 6306801227757
Option 4 ID : 6306801227760
Status : Answered
Chosen Option : 3
Q17
Ans X'1. 3
v 2 1/a
X3 all
X4 0
Question ID : 630680315496
Option 1 ID : 6306801227701
Option 2 ID : 6306801227703
Option 3 ID : 6306801227702
Option 4 ID : 6306801227704
Status : Answered
Chosen Option : 2




Q.18 e e g 3k TEE = & Tl Rdst @& 3aad A B 39 o w01y SHA A o
foraer ufoeT 31fe &7

Ans X1 40%
v 2 50%
X3 30%
X4 20%
Question ID : 630680315506
Option 1 ID : 6306801227743
Option 2 ID : 6306801227744
Option 3 ID : 6306801227742
Option 4 ID : 6306801227741
Status : Answered
Chosen Option : 2
Q.19 A shopkeeper allows a discount of 16% to her customers and stills gains 20%. Find the marked price of a rice bag which
costs the shopkeeper Z1190.
Ans X 1. 21800
X2 21870
X3 31723
« 4 21700
Question ID : 630680315499
Option 1 ID : 6306801227714
Option 2 ID : 6306801227713
Option 3 ID : 6306801227716
Option 4 ID : 6306801227715
Status : Answered
Chosen Option : 1




Q.20 werfgat & 1225 oS & ToeE o0 o @Al & 6 ucie ufs & WAE @ear # oS 991 uede Uk #

fFaa =Y @ I T ¥

Ans X' 1, 39
« 2 35
X3 38
X4 36
Question ID : 630680315498
Option 1 ID : 6306801227712
Option 2 ID : 6306801227711
Option 3 ID : 6306801227709
Option 4 ID : 6306801227710
Status : Answered
Chosen Option : 2
Section : Hindi (Language & Comprehension)
Q.1 fou T a1y # Y@ifhd Weg ®1 WS BT
G P R[ave Wl 7Y 3rar §
Ans X 1. gl
X 2. 9daH
X 3.3
o 4. EENE!
Question ID : 630680315565
Option 1 ID : 6306801227971
Option 2 ID : 6306801227972
Option 3 ID : 6306801227969
Option 4 ID : 6306801227970
Status : Answered
Chosen Option : 4




Q.2 frgfafad uyy § 2T e IR faeeul & A, 39 faeey &1 994 &3 ! Y 7u dsifeaal &

a{ﬁﬁﬂgﬁqﬁmm%l
g1 ST YT, 981 S g
Ans X 1. GMI 9 81 84

o 2. T 3 g} St 1 el SR T forerar §
X 3. Qe g
X 4 QP RE AP &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

630680315573

6306801228002
6306801228001
6306801228004
6306801228003

: Answered
Chosen Option :

2

Q.3 g MY 3rsg &1 faew yma Fifog
SUAR

Ans X' 1. 3FTGR
o 2. TER
X 3. UP

X 4. 3fIa

Question ID

: 630680315574
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801228008
6306801228005
6306801228007
6306801228006
Answered

2




Q4ﬁwwmﬁmﬁﬁﬁ@wwmmﬁhvﬁ%ﬁwmﬁ$mﬁmﬁmmmmﬂ

mqmgﬁmmﬁﬁﬁﬁm

@. 9t To R & B 7 916 W) Asd Y6 A

T, 99 U AT g8 At i 399 omuy o =1t A6 ot
H. U Tid § U frr Tedr AT 3R S9& IR 47 A

Ans X 1.7,® U &
X 29,897
& 3.9F 1T
X 49,9,

Question ID :
: 6306801227960
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Option 1 ID

630680315562

6306801227957
6306801227958
6306801227959
Answered

3

ng?ummﬁWﬁﬁﬁﬁu

Ans X 1. UM
 2.TY
X 3.3
X 4. fazma

Question ID

: 630680315575
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801228010
6306801228011
6306801228012
6306801228009
Answered

2




Q.6 fygd R &t gief B
B B TR Y ¢ I B THAT SHR EIGR(

Ans X' 1. YH

X2¢

& 3. Ul

X 4. f0g
Question ID : 630680315567
Option 1 ID : 6306801227979
Option 2 ID : 6306801227977
Option 3 ID : 6306801227978
Option 4 ID : 6306801227980

Status : Answered
Chosen Option : 3
Q.7 fou ¢ gt & fore Arde ree wia S|
it a1a &) FeT-TeT HR FETI
Ans X' 1. SIEZi

X 2. 3MMehid

X 3. 3T

o 4. Sffa=afad
Question ID : 630680315564
Option 1 ID : 6306801227968
Option 2 ID : 6306801227967
Option 3 ID : 6306801227965
Option 4 ID : 6306801227966

Status : Answered
Chosen Option : 4




Q.8 Yo vl &t gfd ®¢1
TS H ART R o B 141 I ufed g1 @ 8, 3wt favor ar gwe Ea|
TYUTER Hgd &l
Ans X 1. U@yl
o 2. st
X 3. faumr
X 4. g
Question ID : 630680315569
Option 1 ID : 6306801227988
Option 2 ID : 6306801227985
Option 3 ID : 6306801227987
Option 4 ID : 6306801227986
Status : Answered
Chosen Option : 2
Q.9 o =l &) gfd #¥1
e & &Y FeH IR WA SR IS GURA Pt TG, Al ot G |
HE@YUl heH g
Ans X 1. fqwadr
o 2. &l
X 3.9
X 4.9
Question ID : 630680315568
Option 11D : 6306801227982
Option 2 ID : 6306801227983
Option 3 ID : 6306801227984
Option 4 ID : 6306801227981
Status : Answered
Chosen Option : 2




Q.10 fyaa wu=l &1 gfd ®¥1

gmaﬂﬂmwwm%sﬁ?ﬁmm$ BT T I
I

Ans g1 T

X 2.9

X 3. ufRew

X 4. F®
Question ID : 630680315570
Option 1 ID : 6306801227989
Option 2 ID : 6306801227990
Option 3 ID : 6306801227991
Option 4 ID : 6306801227992

Status : Answered
Chosen Option : 1
Q.11 U T are H JAifhd g HY LI BT
TR G o1 B WS B
Ans X' 1. gcl

52 Bife

o 3. Bic

X 4.3
Question ID : 630680315566
Option 1 ID : 6306801227974
Option 2 ID : 6306801227973
Option 3 ID : 6306801227975
Option 4 ID : 6306801227976

Status : Answered
Chosen Option : 3




Q.12 AT 7T reg &1 YUTyaTH F1a B
TP

Ans X 1. JYBR

5 2. 9ol

2 3.

o 4. TP
Question ID : 630680315576
Option 1 ID : 6306801228014
Option 2 ID : 6306801228015
Option 3 ID : 6306801228013
Option 4 ID : 6306801228016

Status : Answered
Chosen Option : 4
Q.13 frafafaa uy #, for 7T ar fawe & |, 39 ey &1 999 9 Y 12T 70 gara & o
P! GdAY U A o H1 2
A BT ST 8T
Ans g 1 ol fad

X 2. Afad

X 3. frqumsh

X 4. = fad
Question ID : 630680315571
Option 1 ID : 6306801227995
Option 2 ID : 6306801227996
Option 3 ID : 6306801227993
Option 4 ID : 6306801227994

Status : Answered
Chosen Option : 1




Q.14 3T U arenie & forQ ardfes weg {id S

N B & Ao 8l
Ans X' 1. Yaue
o 2. 3aY
X 3.3y
X 4. Mew
Question ID : 630680315563
Option 11D : 6306801227961
Option 2 1D : 6306801227963
Option 3 ID : 6306801227964
Option 4 ID : 6306801227962
Status : Answered
Chosen Option : 2
Q.15 frafafad uy #, for 7T ar faee o |, 39 faewey &1 999 9 Y 13T 70 garar & o
P 9YY =9 A Tad HIT 2
UHT UHTAT fUaTI
Ans 1. T H5d forg e
X 2. 9gd =31 Al
X 3. 9o T3l T
X 4. 9gd SST A T
Question ID : 630680315572
Option 1 1D : 6306801227998
Option 2 ID : 6306801227997
Option 3 1D : 6306801228000
Option 4 1D : 6306801227999
Status : Answered
Chosen Option : 1




QmEywmﬁwﬁﬁ&@wwmmﬁhvﬁ%ﬁwmﬁ$mﬁmﬁnmwmﬁ
|

P, 331 PRI ITP AT U1 IHF W 74 B
W, IUPT W @OEE A w11 I6a1 2

7. 3P ATH BT TP ASHT &l

Y. 9% UeTE § ®H T4 @ 8

Ans X 1.6, 7,93
2797 F
X3.979®
X 415,99

Option 1 ID

Status

Question ID :

630680315561

: 6306801227953
Option 21D :
Option 31D :
Option 4 ID :

6306801227954
6306801227955
6306801227956

: Answered
Chosen Option :

2




Comprehension:

T T T T B 1 TN & SR W IR UY U T § | T Bl eAYdd Ue qul Ul Uy
¥ IR fawedl o ¥ el faswed g1

Il foRTfirs Rigid THER o &1 game! Rigid 81 98 SHER ded 1 9ad I, Iuani
IR TGN RIGId & | GHER G &1 U8 RIGid HUT a1 B! e BI Ulhal & 31 Jeret
81 3TH fodt "o, faaR a1 guwn & Ja He@yut audl a1 TRl &1 Jad Ugd SaraT Sl
3, e HeTT a1 I T TSI T S F o1l §1 3 Il RIS SHRIT 81 o1l B,
Hiifh 3T Ty HeqUl g A1 I STl 8, Saifep RIAS o M e & sy a1

e Bl 21 39 At | FORIMS Y Seer R foar S 31

O g9 He@yul Y1 fORIfiE & 9ed Sust fewd § g1t § iR ged §U H § Uad &Y Hed
D1 GEE god fFad fTw 7 g1t 31

AR A6 &1 Ieel RIS Weft & dgd ford T IaER! &1 giawr ot = 3 gea: = gt
B fquifra fasan SiTaT ©- JaeT a1 Sl a1 dits, el iR e a1 qam | s9d gusT a1 s
THER & Ugd 3R -t ugdt SiR gOR Gl Sredgl &l dgl ol ¢ | gEs! fhdt +f o
BT G TEaqU! o g1 8, i S90 Ja AUl et 3R areit & ferar siram g1 59
G THTER 1 drat 3T 8, W%%maﬁamﬁw&hm@vﬁ%m
I gEYH F1 ot foren foman STt 8 1 e sid § Fswy a1 JHTee 31 g

AR e B Ay oift $13 IS 181 gt 8 3R 71 81 GHER & 3id § I8 9 Sl & fo a8t
YHMER B A 8 T 8|

SubQuestion No : 17

Q.17 Ieer fiRifAe Rigia THMER a8 o1 %1 Rigia 22

Ans

" 1. AAEIRG
X 2. 3ATaEIRSD
X 3. BfeA
2 4.71ad
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680315560
6306801227952
6306801227951
6306801227949
6306801227950
Answered

1




Comprehension:

TS T fem T § 1 TR & SR WR IR Uy U T § | TR B AYdd Ue aul Udd Uy
¥ IR fawedl o ¥ 9el faswe g1

Il foRTfirs Rigid THER ded &1 gHamd! Rigid 81 98 SHER o ol 96y I, Iuant
IR HTTRING RIGId & | GHER G &1 U8 RIGid HUT a1 B! e $I Ulhal & 31 Ieaet
81 3TH fodt "o, faaR a1 guwn & Ja He@yul audl a1 STl &1 Ja Ugd Sardt Sl
3, Ao HeTT a1 I T IR T S F o1l §1 3 Il RIS SR o1 ol B,
Hiifh 3TH Ty HEYUl g A1 Y ATl 8, Saiiep RIAS o M e & sy qw an
e Bl 81 39 At | FORIMS Y et R foar S 31

O 999 He@yul g1 fORIfiE & 9ed Sust fexd & g1t © iR ged §U H § Uad &Y Hed
B gEE qod Fad e # g1t 21

AR A &1 Ieel RIS Weft & dgd ford T IaER! &1 giawr ot @ 3 gaa: o gt
B fqufrd fosan ST ©- JEer a1 Sl a1 dits, el iR s a1 qam | S0 gEsT a1 s
AR & Ugd 3R -t ot SfR gOR Gl Sredgl &l dgl ordl ¢ | gEs! fhe +f o
HT T AU o1 Bl §, Fiifes 9T T Hdyul qt SR Jaraii &1 forar Sirdn g1 39
G THTER 1 drat 3Tl 8, W%%maﬁamﬁw&hm@vﬁ%m
I gRYH F1 ot fren fomar ST 81 e sid § Fsawe a1 wHTee 31T B

TER e § Ay Sift #1381 gt 8 3R 71 81 GHER & 3id § I8 9 Sl & fo a8t
YHMER B A 8 T 8|

SubQuestion No : 18

Q.18 3T Y Srufda MeIRr 1 IugE fidE T gRm?

Ans

X 1. e 3R THRER

o 2. TR aed Rigid

X 3. YUER &1 5
X 4. 9UER & Hid

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680315557
6306801227939
6306801227937
6306801227940
6306801227938
Answered

2




Comprehension:

T T T T B 1 TN & SR WR IR UY U T § | T Bl eayd e Ue aul Udd Uy
¥ IR fawedl o ¥ 9el faswe g1

Il foRTfirs Rigid THER o &1 §amd! Rigid 81 98 SHER ded ol 9ad I, Iuani
IR ARG RIGId & | TR G &1 U8 RIGid HUT a1 B! e $I Ulhal & 31 Jeret
81 3TH fodt "o, faaR a1 guwn & Ja He@yut audl a1 STl &l Ja Ugd SaraT Sl
3, A HeTT a1 I T FgH T S F o1l §1 3 Il RIS SR Fe1 S B,
Hiifeh 3T Ty HEqUl g A1 I ATl 8, Saiieh RIAS o M e & sy qw an
e Bl 21 39 At | FORIMS Y Seer bR foar S 31

O 999 He@yul g1 fORIfiE & 9ed Sust fewd & g1t § iR ged §U H § Uad &Y Hed
D1 gEE god e e o gt 31

AR A6 ST Ieel RIS Weft & dgd ford 10 IaER! & giawr ot @ 3 gaa: = gt
B fquifrd fosan SiTaT ©- gEer a1 Sl a1 dite, el iR s a1 qam | S0 gEsT a1 s
AR & Ugd 3R -t ot SiR gUR Gl Sredgl &I dgl oirdl ¢ | gEs! fhdt +f worer
BT G TEaqU! o BT 8, b S9 Ja AUl et 3R garsit & ferar siram g1 59
G THTER 1 drat 3MTdl 8, W%%maﬁamﬁw&hm@vﬁ%m
IGT gEYH F1 ot fren famar ST 8 1 e sid § Fswy a1 wHTee 31T B

THER e B Ay Sift $13 I 161 g1t 8 3R 71 81 GHER & 3id § I8 9 Sl & fo a8t
YHMER B A 8 T g

SubQuestion No : 19

Q.19 YRR a@H &1 Ieel RIS Reft & IR0 &7 IS FA FTE?

Ans

X 1. ey, ST €
X 2. 918l g2, ey
« 3.3, 918, fray
X 4. 9131, fed, g

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

630680315558
6306801227942
6306801227943
6306801227944
6306801227941
Answered

3




Comprehension:

T T T T B 1 T & SR WR IR UY U T § | T Bl eAYdd Ue aul Udd Uy
¥ IR fawed o ¥ el faswed g1

Il foRTfirs Rigid THER o &1 gamd! Rigid 81 98 SHER ded 1 9ad I, Iuani
3R ARG RIGId & | GHER oG &1 U8 RIGid HUT a1 B! e SI Ulhal & 31 Jeaet
81 3uH fodt "o, faaR o1 guwn & Ja He@yul audl a1 STl &1 Ja Ugd Sarat Sl
3, At HETT a1 I H FgH T S F o1l §1 3 Il RIS SR o1 S B,
Hiifh 3TH Ty HeIqUl g A1 I ATl &, Saiep RIAS o M e & sy qw an
e Bl 21 39 At | FORIMS Y Seer R foar S 31

O g8 He@yul g1 fORIfire & 9ed Sust fewd & g1t © iR ged §U H § Uad &Y Hed
D1 gEE god e e o gt 31

AR A &1 Ieel RIS Aeft & dgd ford T IaER! &1 giawr ot = 3 gea: i+ gt
B fqufrd fosan SiTaT &- gEeT a1 Sl a1 dite, el iR e a1 qamH | S0 gEsT a1 s
AR & Ugd 3R -t ot SiR gOR Gl Srwdgl &l dgl ol ¢ | gEs! fhd +f ¥R
BT qEY TEaqU! o g1 8, i S9 Ja AUl et 3R sl & ferar siran 81 59
G THTER &1 dral fTdl 8, W%%maﬁamﬁw&hm@vﬁ%m
IG! gRYH F1 ot fren fomar ST 8 1 Iad 3id § Fsawy a1 JHTee 31T B

AR e B Ay Skft #1381 g1t 8 3R 71 81 GHER & 3id § I8 9 Sl & fo a8t
YHMER B A 8 T g

SubQuestion No : 20

Q.20 ¥HER a@H faft fPae faudia g2

Ans

X 1. ey
X 2.8
o 3. Bl
X 4. 9en
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680315559
6306801227946
6306801227948
6306801227945
6306801227947
Answered

3




Q.1 Choose the most appropriate meaning of the below quoted idiom from the below

options:
“Sell Like hot cakes”

Ans X 1. Unable to sellout anything
«” 2. Quick sellout
45 3. No profit at all
2 4. No sellout at all

Question ID : 630680312181
Option 11D : 6306801214616
Option 2 ID : 6306801214613
Option 3 ID : 6306801214615
Option 4 ID : 6306801214614
Status : Answered
Chosen Option : 1
Q.2 Choose the most appropriate meaning of the below mentioned word from the below
options:
Accomodate
Ans X 1. Turn out

25 2. Limit

# 3. Block

o 4. Take in
Question ID : 630680312185
Option 11D : 6306801214631
Option 2 ID : 6306801214630
Option 3 ID : 6306801214629
Option 4 ID : 6306801214632

Status : Answered
Chosen Option : 3




Q.3

Choose the most suitable word to complete the below sentences:
Just as Salina was about to go the cashier to pay for her purchases, she
cookery section.

the

Ans X 1. Looking for
< 2. spotting
" 3. spotted
< 4. To spot
Question ID : 630680312177
Option 11D : 6306801214599
Option 2 ID : 6306801214600
Option 3 ID : 6306801214597
Option 4 ID : 6306801214598
Status : Answered
Chosen Option : 1
Q.4 Choose the most appropriate opposite meaning of the below mentioned word from the
below options:
Invasion
Ans X 1.Assault
2. Aid
& 3. Raid
«” 4. Protect
Question ID : 630680312183
Option 11D : 6306801214623
Option 2 ID : 6306801214621
Option 3 ID : 6306801214624
Option 4 ID : 6306801214622
Status : Answered
Chosen Option : 4




Q.5 Fill in the missing word to complete the sentences below:
I haven’t seen our neighbours for ages. They away.

Ans X 1. Must have gone
# 2. Must have go

< 3. Had went
«” 4. Had gone
Question ID : 630680312174
Option 1 ID : 6306801214585
Option 2 ID : 6306801214586
Option 3 ID : 6306801214588
Option 4 ID : 6306801214587
Status : Answered
Chosen Option : 1
Q.6 Choose the most appropriate one-word substitution for the bracketed word from the
below sentence.
(Heavy rains had lashed) various parts of the country on July 6, prompting the weather
department to issue a red alert.
Ans X 1. Heavy rains have lashed
< 2. lashed
«” 3. Heavy rains lashed
/< 4. Heavy rains lash
Question ID : 630680312173
Option 1 ID : 6306801214583
Option 2 ID : 6306801214584
Option 3 ID : 6306801214581
Option 4 ID : 6306801214582
Status : Not Answered

Chosen Option :




Q.7 Choose the most appropriate meaning of the below mentioned word from the below
options:
Endurance

Ans o 1. Stamina
& 2. Weakness

25 3. Apathy
< 4. Inability

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680312186
6306801214634
6306801214636
6306801214633
6306801214635
Answered

1

Q.8 Choose the most suitable word to complete the below sentences:
| tried to go out on Sunday, but it was raining

Ans o 1. Heavily

x 2. little
< 3. awful

25 4. amazingly

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680312180
6306801214609
6306801214610
6306801214612
6306801214611
Answered

1




Q.9 Choose the most appropriate one-word substitution for “One who offers his services

Ans

without charging for it ”:
& 1. Missionary

#5 2. Philanderer

< 3. Payee
«” 4. Volunteer

Question ID : 630680312171
Option 1 ID : 6306801214576
Option 2 ID : 6306801214573
Option 3 ID : 6306801214575
Option 4 ID : 6306801214574
Status : Answered
Chosen Option : 4
Q.10 Choose the most suitable word to complete the below sentences:
She loved going to the bookstore and spending hours browsing ____the racks and
shelves, looking for good bargains.
Ans X 1.way

" 2. through

& 3.By

25 4. might
Question ID : 630680312178
Option 1 ID : 6306801214603
Option 2 ID : 6306801214602
Option 3 ID : 6306801214601
Option 4 ID : 6306801214604

Status : Answered
Chosen Option : 3




Q.11 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

Modern consumers are seeking more than just food preservation.

A) Processes are becoming more and more sophisticated to meet the demands of
modern consumers.

B) Quality, economy, and convenience are important factors.

C) Overall, food preservation techniques have come a long way from nature's methods
to high-tech processes.

D) In Western or "Westernized" communities, goods do not sell easily if they lack
color, natural flavor, the right texture and are free from defects.

Ans X 1.ADCB

75 2.BACD

/< 3.DABC

«" 4. BADC
Question ID : 630680312176
Option 1 ID : 6306801214593
Option 2 ID : 6306801214596
Option 3 ID : 6306801214594
Option 4 ID : 6306801214595

Status : Answered
Chosen Option : 2
Q.12 Choose the most suitable word to complete the below sentences:
Theideas of ___ and public good in journalism are more than two centuries old.
Ans X 1.instrument

< 2. accessibility

«” 3. accountability

< 4. machinery
Question ID : 630680312179
Option 1 ID : 6306801214607
Option 2 ID : 6306801214606
Option 3 ID : 6306801214605
Option 4 ID : 6306801214608

Status : Answered
Chosen Option : 3




Q.13 Choose the most appropriate one-word substitution for “To surround a place with the

intention of capturing_it ”:

Ans X 1.Invade
«” 2. Besiege
2 3. Intern
< 4. Bivouac
Question ID : 630680312172
Option 1 ID : 6306801214579
Option 2 ID : 6306801214578
Option 3 ID : 6306801214580
Option 4 ID : 6306801214577
Status : Answered
Chosen Option : 2
Q.14 Choose the most appropriate meaning of the below quoted idiom from the beiow
options:
“In the fast lane”
Ans X 1.Adull and boring life which needs excitement
& 2. Alife filled with sorrowness
#< 3. Athrilled and fast paced lane on the road
o 4. Alife filled with excitement.
Question ID : 630680312182
Option 1 ID : 6306801214617
Option 2 ID : 6306801214620
Option 3 ID : 6306801214619
Option 4 ID : 6306801214618
Status : Answered
Chosen Option : 4




Q.15 Fill in the missing word to complete the sentences below:
it rained a lot, we enjoyed our holiday.

Ans X 1.Because of

«” 2. Although

< 3. Because

5 4. Inspite of
Question ID : 630680312175
Option 1 ID : 6306801214592
Option 2 ID : 6306801214590
Option 3 ID : 6306801214591
Option 4 ID : 6306801214589

Status : Answered
Chosen Option : 2
Q.16 Choose the most appropriate opposite meaning of the below mentioned word from the
below options:
Lament
Ans X 1.Mourn

X 2. Wall

«” 3. Delight

5 4. Regret
Question ID : 630680312184
Option 1 ID : 6306801214628
Option 2 ID : 6306801214626
Option 3 ID : 6306801214627
Option 4 ID : 6306801214625

Status : Answered
Chosen Option : 3




Comprehension:

In the past, travel was seen as a means of colonization, exploration, and exploitation. Early
travelers considered themselves as teachers, bringing a supposedly superior way of life to
undeveloped countries. The motive behind travel was to make money abroad and then return
home to live as a gentleman. However, with the passage of time, the theory of travel has
undergone a radical change, and the attitude of older countries towards foreigners has
transformed. The modern age regards travel as an intellectual venture and a means of
gaining education.

Today, distance has become insignificant in terms of time, and travel for business, military or
diplomatic reasons has become virtually immediate. The spread of international outlook and
world peace is a result of people meeting overseas, and the admixture of populations has
actual benefits from an educational point of view.

Although few travel primarily for education, it is an inevitable result. Travel teaches us about
climatic conditions, languages, and social and political outlooks of other nationalities.
However, education is incidental and inevitable only for those with receptive and open minds.
For the dull and narrow-minded, who gain no benefit from their travels, it would be better to
stay at home.

In conclusion, the changing face of travel has transformed it into an intellectual venture that
offers educational benefits. The spread of international outlook and the admixture of
populations have actual benefits from an educational point of view. Therefore, travel has
become a function that is accessible to people of all levels of society and is essential for
developing a well-rounded personality.

SubQuestion No : 17

Q.17 Identify the suitable title for the passage

Ans

< 1. The challenges of travel in old times

< 2. Travel & modern age problems

" 3. The Changing Face of Travel and its.Educatiopal Benefits
/< 4. Travel & its teachings

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680312168
6306801214563
6306801214561
6306801214562
6306801214564
Answered

3




Q.18
Ans

Comprehension:

In the past, travel was seen as a means of colonization, exploration, and exploitation. Early
travelers considered themselves as teachers, bringing a supposedly superior way of life to
undeveloped countries. The motive behind travel was to make money abroad and then return
home to live as a gentleman. However, with the passage of time, the theory of travel has
undergone a radical change, and the attitude of older countries towards foreigners has
transformed. The modern age regards travel as an intellectual venture and a means of
gaining education.

Today, distance has become insignificant in terms of time, and travel for business, military or
diplomatic reasons has become virtually immediate. The spread of international outlook and
world peace is a result of people meeting overseas, and the admixture of populations has
actual benefits from an educational point of view.

Although few travel primarily for education, it is an inevitable result. Travel teaches us about
climatic conditions, languages, and social and political outlooks of other nationalities.
However, education is incidental and inevitable only for those with receptive and open minds.
For the dull and narrow-minded, who gain no benefit from their travels, it would be better to
stay at home.

In conclusion, the changing face of travel has transformed it into an intellectual venture that
offers educational benefits. The spread of international outlook and the admixture of
populations have actual benefits from an educational point of view. Therefore, travel has
become a function that is accessible to people of all levels of society and is essential for
developing a well-rounded personality.

SubQuestion No : 18

Identify the inferences drawn from the passage

#< 1. The modern age does not regard travel as an intellectual venture and a means of
gaining education

25 2. Travel teaches about climatic conditions, racial customs, religions, languages, and
social and political outlooks of other nationalities.

2% 3. The dull and narrow-minded people should be travelling more to explore

¥ 4. the changing face of travel has transformed it into an intellectual venture that offers
educational benefits.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680312170
6306801214572
6306801214569
6306801214570
6306801214571
Not Answered




Comprehension:

In the past, travel was seen as a means of colonization, exploration, and exploitation. Early
travelers considered themselves as teachers, bringing a supposedly superior way of life to
undeveloped countries. The motive behind travel was to make money abroad and then return
home to live as a gentleman. However, with the passage of time, the theory of travel has
undergone a radical change, and the attitude of older countries towards foreigners has
transformed. The modern age regards travel as an intellectual venture and a means of
gaining education.

Today, distance has become insignificant in terms of time, and travel for business, military or
diplomatic reasons has become virtually immediate. The spread of international outlook and
world peace is a result of people meeting overseas, and the admixture of populations has
actual benefits from an educational point of view.

Although few travel primarily for education, it is an inevitable result. Travel teaches us about
climatic conditions, languages, and social and political outlooks of other nationalities.
However, education is incidental and inevitable only for those with receptive and open minds.
For the dull and narrow-minded, who gain no benefit from their travels, it would be better to
stay at home.

In conclusion, the changing face of travel has transformed it into an intellectual venture that
offers educational benefits. The spread of international outlook and the admixture of
populations have actual benefits from an educational point of view. Therefore, travel has
become a function that is accessible to people of all levels of society and is essential for
developing a well-rounded personality.

SubQuestion No : 19

Q.19 Identify the central theme of the passage

Ans

«” 1. Travel has evolved over years and has lot edueational benefits as well
< 2. There are no benefits of travelling and one must avoid it
< 3. Travel promotes exchange of ideas and good

/< 4. Early travelers had a superior way of life due to travelling

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680312167
6306801214560
6306801214557
6306801214558
6306801214559
Answered

3




Comprehension:

In the past, travel was seen as a means of colonization, exploration, and exploitation. Early
travelers considered themselves as teachers, bringing a supposedly superior way of life to
undeveloped countries. The motive behind travel was to make money abroad and then return
home to live as a gentleman. However, with the passage of time, the theory of travel has
undergone a radical change, and the attitude of older countries towards foreigners has
transformed. The modern age regards travel as an intellectual venture and a means of
gaining education.

Today, distance has become insignificant in terms of time, and travel for business, military or
diplomatic reasons has become virtually immediate. The spread of international outlook and
world peace is a result of people meeting overseas, and the admixture of populations has
actual benefits from an educational point of view.

Although few travel primarily for education, it is an inevitable result. Travel teaches us about
climatic conditions, languages, and social and political outlooks of other nationalities.
However, education is incidental and inevitable only for those with receptive and open minds.
For the dull and narrow-minded, who gain no benefit from their travels, it would be better to
stay at home.

In conclusion, the changing face of travel has transformed it into an intellectual venture that
offers educational benefits. The spread of international outlook and the admixture of
populations have actual benefits from an educational point of view. Therefore, travel has
become a function that is accessible to people of all levels of society and is essential for
developing a well-rounded personality.

SubQuestion No : 20

Q.20 What is the meaning of “Radical ”?

Ans

75 1. Conventional
< 2. Orthodox

" 3. Revolutionary
< 4. Moderate

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680312169
6306801214567
6306801214565
6306801214568
6306801214566
Answered

3




Q.1
Ans

is a presentation program.

«” 1. MS-PowerPoint
5 2. U-torrent

/< 3. Slide Panel

< 4. Mozilla Firefox

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680315528
6306801227831
6306801227829
6306801227832
6306801227830
Answered

1

Q.2 Which of the following short cut key(s) is used to select current column completely?

Ans

< 1. Shift + Spacebar+Tab
o 2. Ctrl + Shift + Spacebar
& 3.Ctrl+A

< 4. Shift + Spacebar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680315527
6306801227828
6306801227826
6306801227827
6306801227825
Answered

3




Q.3 Which among the following short cut key is used to see print preview in word

document?
Ans X 1. CTRL+F1
o 2. CTRL+F2
5 3. CTRL+*
5 4. CTRL+G
Question ID : 630680315521
Option 1 ID : 6306801227802
Option 2 ID : 6306801227803
Option 3 ID : 6306801227801
Option 4 ID : 6306801227804
Status : Answered
Chosen Option : 2
Q.4 Management and service of on “UMANG APP” comes under which of the following
ministry?
Ans X 1. Ministry of Education
5 2. Ministry of Commerce and Industry
«” 3. Ministry of electronics and information technology
< 4. Ministry of Corporate Affairs
Question ID : 630680315534
Option 1 ID : 6306801227853
Option 2 ID : 6306801227854
Option 3 ID : 6306801227856
Option 4 ID : 6306801227855
Status : Answered
Chosen Option : 3




Q.5 Which among the following shortcut key is used to open the existing presentation in

the PowerPoint?
Ans X 1.Ctrl+N

&K 2.Ctrl +K

3. Ctrl+ M

o 4.Ctrl+ 0O
Question ID : 630680315529
Option 1 ID : 6306801227834
Option 2 ID : 6306801227836
Option 3 ID : 6306801227833
Option 4 ID : 6306801227835

Status : Answered
Chosen Option : 4
Q.6 What is the full form of C.U.?
Ans 1. Control Unit

< 2. Central Unit

5 3. Computer Unit

< 4. Command Unit
Question ID : 630680315517
Option 1 ID : 6306801227787
Option 2 ID : 6306801227786
Option 3 ID : 6306801227788
Option 4 ID : 6306801227785

Status : Answered

Chosen Option :

1




Q.7 Which of the following menu of MS-2010 includes watermark command?
Ans X 1. Home

< 2. Insert
< 3. View
« 4. Page layout

Question ID

: 630680315522
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801227805
6306801227806
6306801227807
6306801227808
Answered

2

Q.8 Which among the following is also known as the brain of the computer?
Ans X 1.V.D.U.

5 2. Control Unit
< 3. Mother Board
o 4. C.PU.

Question ID :
Option 11D :
Option 21D :

Option 3 ID

630680315516
6306801227783
6306801227782

: 6306801227781
Option 4 ID :
Status :

Chosen Option :

6306801227784
Answered
4




Q.9 helps to navigate left and right of the worksheet.
Ans X 1. Vertical Scroll Bar

# 2. Docking Toolbars
«” 3. Horizontal Scroll Bar
/< 4. Status Bar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680315526
6306801227822
6306801227823
6306801227821
6306801227824
Answered

2

Q.10 Arrange the following operating system in proper sequence from earlier to later:- (1)
Windows 95,(2) Windows 98, (3) Windows xp, (4) Windows 2000?

Ans o 1.12473
&2.1,4,32
& 3.1,3,2,4
K 4.1234

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680315519
6306801227796
6306801227793
6306801227794
6306801227795
Answered

1




Q.11 Which of the following is an operating system?
Ans X 1. Mozilla

" 2. Microsoft Windows
/< 3. Google chrome
/< 4. Debugger

Question ID

: 630680315520
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801227800
6306801227797
6306801227799
6306801227798
Answered

2

Q.12 Who among the following is called the Father of computers?
Ans X 1.James Babbage

«” 2. Charles Babbage
< 3. Charles Augusta
< 4. Lady Augusta

Question ID :
Option 11D :
Option 21D :

Option 3 ID

630680315515
6306801227780
6306801227777

: 6306801227778
Option 4 ID :
Status :

Chosen Option :

6306801227779
Answered
2




Q.13 It is a place where one can enter or view formulas or text. Which is being discussed
here?

Ans X 1.Ribbon
«” 2. Formula bar

X 3. Cell
25 4. Workbook

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

630680315525
6306801227819
6306801227818
6306801227820
6306801227817
Answered

2

Q.14 Does PowerPoint have the facility to create pdf of PowerPoint presentation?
Ans X 1.Perhaps

5 2. can't say
X 3. Truth
o 4. false

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680315530

6306801227840
6306801227839
6306801227837
6306801227838

. Answered
Chosen Option :

3




Q.15 What is the second largest font size that can be selected using font size drop down list

in MS Word 20107

Ans X 1.50
o 2.48
0 3.55
K 4.52
Question ID : 630680315523
Option 1 ID : 6306801227811
Option 2 ID : 6306801227812
Option 3 ID : 6306801227809
Option 4 ID : 6306801227810
Status : Answered
Chosen Option : 4
Q.16 Which among the following is correctly matched regarding start menu of Windows xp?
Ans & 1. Control Panel - Displays a list of utility configure the computer system and install
Software and hardware
#5 2. All Programs - Displays a list of uninstalled program, which a user can start or use.
#5 3. Control Panel - Displays a list of utility configure the computer system and install only
software
< 4. My Documents - Displays a list of installed program, which a user can start or use
Question ID : 630680315518
Option 1 ID : 6306801227789
Option 2 ID : 6306801227790
Option 3 ID : 6306801227792
Option 4 ID : 6306801227791
Status : Answered
Chosen Option : 1




Q.17 In which section of IT act - 2000 punishment for publishing or transmitting obscene

material in electronic form has been discussed?

Ans X 1.56
X 2.66
. 3.68
o 4.67
Question ID : 630680315532
Option 11D : 6306801227846
Option 2 ID : 6306801227845
Option 31D : 6306801227848
Option 4 ID : 6306801227847
Status : Answered
Chosen Option : 3
Q.18 What is the smallest font size that can be selected using font size drop down list in MS
Word 2010?
Ans X 1.7
K 2.9
&~ 3.6
o 4.8
Question ID : 630680315524
Option 11D : 6306801227813
Option 2 ID : 6306801227814
Option 3 ID : 6306801227816
Option 4 ID : 6306801227815
Status : Answered
Chosen Option : 3




Q.19 Which section of the IT Act 2000 deals with the punishment for identity theft?

Ans X 1.65A
o 2.66C
X 3.64
X 4.62
Question ID : 630680315531
Option 1 ID : 6306801227843
Option 2 ID : 6306801227844
Option 3 ID : 6306801227842
Option 4 ID : 6306801227841
Status : Not Answered
Chosen Option : --
Q.20 In which of the following year was the DigiLocker facility launched?
Ans X 1.2019
£ 2.2020
o 3.2015
5 4.2018
Question ID : 630680315533
Option 1 ID : 6306801227851
Option 2 ID : 6306801227852
Option 3 ID : 6306801227849
Option 4 ID : 6306801227850
Status : Answered
Chosen Option : 2






